

AGRICULTURAL COMMISSIONER'S OFFICE 81-077 INDIO BLVD, STE K INDIO, CA 92201 PHONE (760) 342-5070

HARRY LOUKATOS SUPERVISING AGRICULTURAL AND STANDARDS INVESTIGATOR II

COACHELLA VALLEY ACREAGE AND AGRICULTURAL CROP REPORT 2015

Riverside County's total gross valuation for 2015 is \$1,301,551,000. Riverside County's total agricultural production is derived from four separate and distinct districts: Riverside/Corona, San Jacinto/Temecula Valley, Coachella Valley, and the Palo Verde Valley.

Below is a table comparing the value of the agricultural crops in each of the districts during the last three years.

	2013	2014	2015
Riverside/Corona	\$110,078,000	\$96,205,000	\$94,139,000
San Jacinto/Temecula	165,035,000	175,767,000	151,976,000
Coachella Valley	615,621,000	625,602,000	649,732,000
Palo Verde Valley	167,701,000	171,013,000	146,197,000

We must emphasize that this report reflects only a gross return and in no way represents a measure of profit to the producers.

If you have any questions regarding this report, or desire the complete Annual Riverside County Agricultural Production Report, please visit our website at WWW.rivCoag.org or write or call your local Agricultural Commissioner's Office.

JOHN SNYDER AGRICULTURAL COMMISSIONER\ SEALER OF WEIGHTS AND MEASURES

CITRUS CROPS							
			Prod	uction			Value
	Planted	Harvested	Per			Per	
	Acreage	Acreage	Acre	Total	Unit	Unit	Total
Grapefruit-Ruby	290	290	13.60	3,940	tons	576.47	2,271,000
By-products			2.67	770	"	57.64	44,400
Grapefruit-Red	300	300	14.45	4,340		605.88	2,630,000
By-products			2.81	840	"	58.82	49,400
Grapefruit-Other*	100	100	15.13	1,510		555.88	839,000
By-products			1.70	170		58.82	10,000
Lemons	5,200	5,200	16.53	86,000	"	1218.40	104,782,000
By-products			2.38	12,400		92.11	1,142,000
Miscellaneous**	215	215	12.71	2,733		1510.07	4,127,000
Oranges-Valencia	240	240	8.91	2,140		634.67	1,358,000
By-products			2.81	674		104.00	70,100
Mandarins / Tangerines	1,475	1,475	7.70	11,400		1576.04	17,967,000
By-products			1.31	1,930	"	115.36	223,000
Tangelos	658	658	7.25	4,771	"	923.33	4,405,000
By-products			1.70	1,119	"	110.00	123,100
TOTAL	8,478	8,478					\$140,041,000

* Includes White, Other.

**Includes Kumquats, Limes.

TREE AND VINE CROPS								
			Production				Value	
	Planted	Harvested	Per			Per		
	Acreage	Acreage	Acre	Total	Unit	Unit	Total	
Dates	8,500	8,104	2.40	19,400	tons	2,100	40,740,000	
By-product			0.35	2,840	"	85.00	241,000	
Grapes-Table	7,413	7,026 Information for each variety is broken out on the following lines below.				ng lines below.		
Beauty-Seedless	43	43	6.57	283	tons	2,666.67	755,000	
Exotic	20	20	7.02	140	"	2,111.11	296,000	
Flame Seedless	3,736	3,434	9.72	33,400		2,222.22	74,222,000	
Perlette	75	75	7.56	567		2,888.89	1,638,000	
Thompson Seedless	70	70	6.75	473	"	2,777.78	1,314,000	
Other	3,469	3,384	6.75	22,800	"	2,888.89	65,867,000	
Miscellaneous*	494	494	7.49	3,700	"	1,664.90	6,160,000	
TOTAL	16,407	15,624					191,233,000	

*Includes Figs, Grapes-Raisins, Jojoba, Mangos, Peaches.

		Pro	duction			Value
	Total Harvested	Per			Per	
	Acreage	Acre	Total	Unit	Unit	Total
Artichokes	884	8.04	7,110	tons	1,351.30	9,608,000
Beans-Green	1,208	5.41	6,540		1,721.27	11,257,000
Broccoli	953	6.13	5,840	"	1,054.78	6,160,000
Carrots	4,070	34.00	138,000	"	175.00	24,150,000
Cauliflower	1,134	7.29	8,300		1,027.83	8,531,000
Celery	659	26.77	17,600		408.66	7,192,000
Corn-Sweet	1,502	10.24	15,400		566.44	8,723,000
Eggplant	220	18.90	4,160	"	938.00	3,902,000
Herbs/Spices	1,430	7.28	10,410		1,340.00	13,949,000
Lettuce-Head	291	18.62	5,420	"	470.00	2,547,000
Lettuce -Loose leaf	779	11.24	8,800		746.47	6,569,000
Lettuce -Romaine	2,041	12.90	26,300		723.50	19,028,000
Melons, Watermelon	664	32.00	21,200		380.00	8,056,000
Miscellaneous*	2,272	12.34	28,000		672.19	18,821,000
Okra	791	4.15	3,280	"	1,000.00	3,280,000
Onions-Dry	59	28.75	1,700		420.00	714,000
Onions-Green	305	17.30	5,280		1,428.57	7,543,000
Oriental Vegetables	1,877	10.50	19,700		750.00	14,775,000
Pepper-Bell	4,644	17.85	82,900		816.96	67,726,000
Strawberries	322	22.20	7,100	"	1,867.16	13,257,000
Spinach	667	8.74	5,800	"	1,371.43	7,954,000
Tomatoes	255	19.86	5,060	"	698.00	3,532,000
TOTAL	27,027					\$267,274,000

VEGETABLE, MELON, AND MISCELLANEOUS CROPS

* Includes: Beets, Brussels Sprouts, Cabbage, Leeks, Kale, Peppers-Chili, Potatoes-Spring, Radishes, Squash-Winter, Turnips.

		FIELD AN	D SEED CROPS			
		Prod	uction			Value
	Total					
	Harvested	Per			Per	
	Acreage	Acre	Total	Unit	Unit	Total
Hay						
Alfalfa	688	8.00	5,500	tons	260.00	1,430,000
Sudan	124	6.00	744	tons	160.00	119,000
Pasture, Irrigated	1,450	1.00	1,553	acres	150.00	233,000
TOTAL	2,262					\$1,782,000

NURSERY STOCK PRODUCTION							
		Production		Value			
	Acres	Total	Unit	Total			
Ornamental Nursery Stock	1,894	16,209,070	various	42,282,000			
Cut Flowers	12	1,563,700	cuttings	938,000			
Cut Greens	3	99,750	cuttings	394,000			
Turf	550	23,958,000	square feet	2,375,000			
Farm Planting Stock	74	135,000	various	3,413,000			
TOTAL	2,533			\$49,402,000			

SUMMARY				
	Harvested Acreage	Valuation		
Citrus Crops	8,478	140,041,000		
Tree & Vine Crops	15,624	191,233,000		
Vegetable, Melon & Misc. Crops	27,027	267,274,000		
Field & Seed Crops	2,262	1,782,000		
Nursery Stock	2,533	49,402,000		
TOTAL	55,924	\$649,732,000		